










 

Bias 

H (1:1) 

H (1:2) Classification = 2 

Classification = 1 

Sex = 1 

Sex = 2 

Residence = 1 

Residence = 2 

Status = 1 

Status = 2 

Status = 3 

Qualification = 1 

Qualification = 2 

Qualification = 3 

Qualification = 4 

Qualification = 5 

Emp. status = 1 

Emp. status = 2 

Classification = 3 

Request = 1 

Request = 2 

Request = 4 

Borrowing = 1 

Borrowing = 2 

Age 

Borrowing = 4 

Borrowing = 3 

Service 

Salary 

Amount 

Tenor 

Credit amount 

App. status = 2 

App. status = 1 

Synaptic weight>0 
Synaptic weight<0 
 

Status = 4 

Classification = 4 

Bias 






